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@  Scilab Exercises

« Small assimilation testbed using the L95 toy model

« Assimilation methods
- 3dVar
- LETKF
« varETKF (hybrid 3dVar/LETKF)
* Nudging




Scilab files

« getoptions.sce
* run9s.sce

e C_traj.sci

* rk4.sci

« plot_results.sci
« plot_b.sci
 B6h1.r8
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run95

e Main driving function
« Time step dt
« Obs frequency t _obs

0.025 (corresponds to 3h)
0.05 (corresponds to 6h)

* run95(n_cycle,options,g_nu,N_ens,a_letkf,rho)

n_cycle
options
g_nu
N_ens
a_letkf
rho




U getoptions

« Struct holding the most important options
e opt = getoptions/()
« Options

« opt.modelerr

- opt.modelsize

« opt.obserr

« opt.plotfreq

- opt.B

* opt.seed

« opt.which

« opt.obsloc

« opt.plot_free




Getting started

* Open the files run95.sce and getoptions.sce with the scilab
editor

 |n each of the source files select
«Execute -> ...file with no echo» (or ctrl-shift-e)

* In the console type
run95 (200) ;
A plotting window opens and shows the results of a L95
simulation (truth and free forecast). At the end, the avg.
RMS error of the free forecast is displayed in the console.

* In the console type
opt = getoptions|()
opt.modelerr = 2
run95 (200, opt) ;

« Compare the RMS error with that of the first simulation




